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D. 50000

andra is taking an examination which consists of two parif, Ay @ ith the folloy ":
instructions.

- Part A consists of three questions and the student must do two.
- Part B consists ol Tour questions and the student must do two.

- Part A must be comipfeted before starting Part B. —
- of the 5 i which she
mplted I qubsfiokis.

The number of different possible orders is B
(Record your answer in the numencal response box from left to right.) ‘ U
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Response

) 49 b)) 42 c) 7

4. He should have multiplied 7 by 4 to get 28. §. a) 24360 b) 27000

6. a) 120 b) Q)40 ii) 40 iii) 80 iv) 20

7. a) 17576000 b) 15 600 000 <) 11389 248

8. Diagram 1 — 15 Diagram 2 -+ 15 Disgram 3 — 1]

9. a) B40 by 1)24 b)) 240 Wi 360 Qv) 480 v) 60 3 <
10.s) & b) 125 e) 54 d) 48

11.a) 120 b) 12 ¢) M4 d) 12 12.a) B40 b)20 ¢) 40 d) 400

13.a) 720 b) 360 ) 1950




